C-9600005836

C T CORPORATION SYST	TEM	
Requestor's Name 660 East Jefferson S	Street	
Address Tallahassee, Florida		
City State Zip	Phone	\$UUUUU199931\$4 -11/08/9601010005 *****70.00 *****70.00
CORPORATIO	DN(S) NAME	*****70.00 *****70.00
	1	<u>& X</u>
1 billing Interno	tional Ive	75 00 F
(-XProfit ()NonProfit ()Limited Liability Company	() Amendment	아 Merger 약 나
(-) Foreign	() Dissolution/Withd	drawel () Mark
() Limited Partnership () Reinstatement () Limited Liability Partner	() Annual Report () Reservation	() Other () Change of R.A. () Fictitious Name
() Certified Copy	() Photo Copies	() CUS
() Call When Ready () Walk In	() Call if Problem () Will Wait	() After 4:30 (4 Pick Up
() Mail Out		
Name Availability		PLEASE RETURN EXTRA COPY(S) FILE STAMPED
Document Examiner Updater	17/7/96	Cea Cea
Veriller	, , , , ,	6 Kill (1975)
Acknowledgment		32 · 32
W.P. Verilier		

CR2E031 (1-89)

: APPLICATION BY FOREIGN CORPORATION FOR AUTHORIZATION TRANSACT BUSINESS IN FLORIDA

IN COMPLIANCE WITH SECTION 607.1503, FLORIDA STATUTES, THE FOLLOWING IS SUBMITTED TO REGISTER A FOREIGN CORPORATION TO TRANSACT BUSINESS IN THE STATE OF FLORIDA:

1.	abbreviations of lik	on: must include the wor	ਚ "INCORPORATED", "C will clearly indicate that it ne at present.)	COMPANY", "CORP is a corporation ins	'ORATION", or words or load of a natural person
2.	Delaware			3. 3	56-2495346
	(State or country ur	ider the law of which it is	s Incorporated)	(FEI	36-2495346 number, if applicable)
4.	December 13,		5. Perpetual	ear corp. will cease t	o evict or "nemotion")
6.	II Augustatu		ee sections 607.1501, 60		FILED ON OF CORP. 104 OF CORP. 107 - 7 PI
7.	251 O'Connor	Ridge Boulevard, S	uite 300. Irving. 1	Cexas	STATE ORATIONS 3: 42
	 	(Current mailing ac	idress)		
•	Purpose(s) of corpo Florida)	any lawful act or a lawful act or act	ne state or country to be o	oration may be amled out in the sta	qualified under the
	Name	C T Corporation	System		
	Office Address	c/o C T Corporat:	ion System, 1200 Sc	outh Pine	
		Plantation	, Florida, 33324 (Zip C		
Hav des furt	ignated in this appl her agree to comply	s registered agent and to ication. I hereby accept t with the provisions of a and accept the obligation	he appointment as regist	ered <mark>agent and agre</mark> proper and complete	nd corporation at the place te to act in this capecity. I performance of my duties,
		A 0			
	-	SPECIAL ASSISTA	भूत्रभूपयाच्या TN	·	
(FL	- 2189 - 11/16/94)	(Туре	Name and Title of Officer)	

(FL - 2189 - 11/16/94)

- 11. Attached is a certificate of existence duly authenticated, not more than 90 days prior to delivery of this application to the Department of State, by the Secretary of State or other official having custody of corporate records in the jurisdiction under the law of which it is incorporated.
- 12. Names and addresses of officers and/or directors:

A.	DIRECTORS
	Chairman: Dennia R. Longmire
	Address: 251 O'Connor Ridge Boulevard, Suite 300
	Irving. Texas 75038
	Vice Chairman:
	Address:
	Director: See attached list of directors
	Address:
	Director:
	Address:
В.	OFFICERS
	President: See attached list of officers
	Address:
	Vice President:
	Address:
	Secretary:
	Address:

Treasurer:		
Address:		
NOTE: If necessary, you mand/or directors.	ay attach an addendum to the application listing addition	al officer
13. Signature of Chairman, Capplication)	Vice Chairman, or any officer listed in number 12 of the	
14. <u>Brad Phillips. Treasur</u> (Typed or printed name a	nd capacity of person signing application)	
	96 KOY -7 PH 3: 42	FILED SECRETARY OF STATE DIVISION OF CORPORATIONS

Appendix to Florida Application by Fgn. Corp. for Authorization to Transact Business in Florida

Officers of Darling International Inc.

1.	John R. Witt, Vice	Prosident	Chief	Financial	Officer	ü	Secretary
	451 O'Connor Ridge	Boulovard,	Suito	300			_
	Irving, Texas 750	38					

- Kenneth A. Ghazey, President and Chief Operating Officer 251 O'Connor Ridge Boulevard, Suite 300 Irving, Texas 75038
- James A. Coalson, Vice President of Research & Tech. 251 O'Connor Ridge Boulevard, Suite 300 Irving, Texas 75038
- Willaim R. McMurtry, Vice President of Environmental Affairs 251 O'Connor Ridge Boulevard, Suite 300 Irving, Texas 75038
- Ron E. Cummings, Vice President of MIS 251 O'Connor Ridge Boulevard, Suite 300 Irving, Texas 75038
- Mark C. Levy, Vice President and Corporate Controller 251 O'Connor Ridge Boulevard, Suite 300 Irving, Texas 75038
- Gilbert L. Guiterrez, Vice President of Human Resources 251 O'Connor Ridge Boulevard, Suite 300 Irving, Texas 75038
- Omer A. Dreiling II, Vice President-Southwest Div. 251 O'Connor Ridge Boulevard, Suite 300 Irving, Texas 75038
- James A. Ransweiler, Vice President-Great Lakes Div. 251 O'Connor Ridge Boulevard, Suite 300 Irving, Texas 75038
- Robert L. Willis, Vice President-Midwest Div. 251 O'Connor Ridge Boulevard, Suite 300 Irving, Texas 75038
- 11. Brad Phillips, Treasurer 251 O'Connor Ridge Boulevard, Suite 300 Irving, Texas 75038
- 12. M.A. Reed, Assistant Secretary
 251 O'Connor Ridge Boulevard, Suite 300
 Irving, Texas 75038

SECRETARY OF STATE
DIVISION OF CORPORATIONS

Application by Fgn. Corp. for Authorization to Transact Business in Florida

Directors of Darling International Inc.

- Dennis B. Longmire
 251 O'Connor Ridge Boulevard, Suite 300
 Irving, Texas 75038
- Craig Scott Bartlett, Jr.
 251 O'Connor Ridge Boulevard, Suite 300
 Irving, Texas 75038
- Kenneth A. Ghazey
 251 O'Connor Ridge Boulevard, Suite 300
 Irving, Texas 75038
- Fredric J. Klink
 251 O'Connor Ridge Boulevard, Suite 300
 Irving, Texas 75038
- Denis J. Taura
 251 O'Connor Ridge Boulevard, Suite 300
 Irving, Texas 75038
- Bruce Waterfall
 251 O'Connor Ridge Boulevard, Suite 300
 Irving, Texas 75038

SECRETARY OF STATENS DIVISIONS -7 PH 3: 42

Office of the Secretary of State

I, EDWARD J. FREEL, SECRETARY OF STATE OF THE STATE OF DELAWARE, DO HEREBY CERTIFY "DARLING INTERNATIONAL INC." IS DULY INCORPORATED UNDER THE LAWS OF THE STATE OF DELAWARE AND IS IN GOOD STANDING AND HAS A LEGAL CORPORATE EXISTENCE SO FAR AS THE RECORDS OF THIS OFFICE SHOW, AS OF THE SIXTH DAY OF NOVEMBER, A.D. 1996.

AND I DO HEREBY FURTHER CERTIFY THAT THE ANNUAL REPORTS HAVE BEEN FILED TO DATE.

AND I DO HEREBY FURTHER CERTIFY THAT THE FRANCHISE HAVE BEEN PAID TO DATE.

0591718 8300

AUTHENTICATION:

8178793

DATE:

11-06-96